Assembly Instructions

'
ot
h

pea)

4 XN

L e,
A RO

et

AN
':':':"' ot i
) KN

0

dBRON)
AN
SR NN AR

RTIORY

N

o ,'»",'l,‘:}, )
e,

)

If you have any questions, please follow these steps( “Find Your

Orders” — “Problem with the Order” “Contact Seller” ) to contact our
customer service. Thanks!




General Assembly Guidelines

l. Ensure that all parts and hardware are available before beginning assembly.

Il. Follow each step carefully to ensure the proper assembly of this product.

lIl.  Two people are recommended for ease in the assembly of this product.
V.  The three main types of hardware used to assemble this product are : wood
dowels , screws and bolts.

V. The provided glue is to secure wood dowels in place . When first inserting dowels ,
locate the appropriate hole for the dowel , place a small amount of glue in the hole
and insert the dowel . Wipe away excess glue immediately.

ﬂ%ﬁ@

In future assembly steps when dowels are necessary to attach assembly parts
together , place a small amount of glue on the end of the dowel before attaching
parts together . Wipe away excess glue immediately.

5

[
——

A Phillips head screwdriver is required for the assembly of this product .

<®

Power tools should not be used to assemble this product .







I & m Mo O W >

I
J
K
L
M
U
\Y
w
X
R
S

Hardware List

@8x30mm Wooden dowel

@6x35mm Cam bolt
@15x11mm Cam lock
@30mm Sticker
M 4 Hex Key
@6x50mm Screw
T M6*12mm Bolt
Anti-tipping iron sheet

Gasket
ﬁ house lizard
B4x25mm Screw
Handle
@4x19mm Bolt
@4x25mm Screw
@3x12mm Screw
& Plastic wedge
@3x17mm Screw
) @3x15mm Screw
D = Glue tube

Philips head screwdriver required for assembly
(not included)
The hardware quantities listed above are required for proper assembly.
Some extra hardware may also have been included.

A NN DN NN O 00 O O

= =S AN
= 0 o N N O





































Step 12

J
P.16

X6




retainer

extramural
In-event races

@@ rotating iron sheet
Screw










)




hed edge(/

IS

In

L
















Make Four holes 40MM deep

512




p
Step 23

Wall







,
o
',l,l,:,

)
',l',lﬂ XK
N':" i " "W )

AN W, '/".'ll':'l" '0""’ i ' ;
A NN X AN
NXNEN) () i
NXNXNY

s
NI TIN
WXNANKANAN POl
e N o el (L
AR A
AN RN (ROZN Iy
b :""/,l"! Y [
ARORNA
']'!,4,,"
N






